(21: Pride and Prejudice, first half

Instrument: Probability-Turbulence Divergenc//

a=0

Y | | | |

| | | | |
| | | | |
0 1/4 1/2 3/4 1 3/22 3 5 oo

D(P))(QllH Qz) = 0.911

T

10,000
6‘%@ ¢
\)\;@ @&& 0
100,000 SN
7

Counts per cell

(29: Pride and Prejudice, second half

O =
=
&
=

o
N . @& Balances:
X0
& & R 50.0% total counts 50.0%
4 & 52.5% all 3-Grams 52.2%

91.2% exclusive 3-grams 91.1%

Divergence contribution 6Dy . (x1072%)
0.5 0 0.5

in the room >
in the samepr
said Miss Bingley >
of Lady Catherine >
<ought not to 62.5—78,320
Ja letter from 62.5—78,320
for me ton
said Bennet and >
glad to seer
a second timep
that you are>
Sir William and >
I am convinced >
am convinced that >
that it is>
he must be>
<go to Brighton 128.5—=78,320
Jeach of them 128.5—78.,320
Jdwhat is to 128.5+78,320
<of her sister 128.5—78,320
he had neverp
You will not >
for I have
a mixture of >
to dance with>
he had ar
the compliment of >
nothing to dop
so fortunate as>
give me leave >
at the Parsonage >
me leave top
I should think >
how can you>
she was very >
in all this>
nothing to say >
be in thep
Miss Bingley I
Jdwhat has been 200-—78,320

50.2%—49.8%



(21: Pride and Prejudice, first half

Instrument: Probability-Turbulence Divergencé

| | |
| I I I

| | | | |
I I I I I
1/2 3/4 1 3/22 3 5

DY)y ( || ©2) = 0.911

12/13
3:2 ’
-

1/12 1/12
pT,/Q o pT,/Q

10_3 SEON
her-uncle and
1073 N
was-forced tox,
Y 5 Al
~_ 10

© ought not to™ - N

.\}8\)-
Q\;.
1,000 O@ 1046
6‘;‘&;
10,000 4
% ¢
\)}:@ @&& 0
100,000 N
S
U

Counts per cell

(29: Pride and Prejudice, second half

1073
‘ | P 1032
i ‘in the 106
Iffi«?" 1034
<§§> in the same @ ]\\
S 1036 & S
o Q
Ry for mé\to @Q)Q?'
W ‘> 107%% A
‘ her opi (1)6le \Q%‘;
A me last Aight . %Q be
10 4.2 \,{}3 CJO
= that did eIl 4.4 &50 5O 6\’0
N
)
10—4.6 Q&
Qb
0
. 6‘5 Balances:
aj& X &\
0 o QQJQ’ < 50.0% total counts 50.0%
K %QJQ\’ 52.5% all 3-grams 52.2%

91.2% exclusive 3-grams 91.1%

Divergence contribution 5Df/1277 (x107°%)
1 0.5 0 0.5 1

in the room >
in the samepr
said Miss Bingley >
of Lady Catherine >
<ought not to 62.5—78,320
Ja letter from 62.5—78,320
for me ton
said Bennet and >
glad to seer
a second timep
that you are>
Sir William and >
I am convinced >
am convinced that >
that it is>
he must be>
<go to Brighton 128.5—=78,320
<each of them 128.5—78,320
Jdwhat is to 128.5+78,320
<of her sister 128.5—78,320
he had neverp
You will not >
for I have
a mixture of >
to dance with>
he had ar
the compliment of >
nothing to do>
so fortunate as>
give me leave >
at the Parsonage >
me leave top
I should think >
how can you>
she was very >
in all this>
nothing to say >
be in thep
Miss Bingley I
Jdwhat has been 200—78,320

50.1%—49.9%



()1: Pride and Prejudice, first half (25: Pride and Prejudice, second half Divergence contribution 0D f/ﬁ,T (x107*%)

1 0.5 0 0.5 1

Instrument: Probability-Turbulence Divergencé I I | | |

in the room >
in the samepr
said Miss Bingley >
of Lady Catherine >
<ought not to 62.5—78,320
Ja letter from 62.5—78,320
for me ton
said Bennet and >
glad to seer
a second timep
that you are>
Sir William and >
I am convinced >
am convinced that >
that it is>
he must be>
<go to Brighton 128.5—=78,320
<each of them 128.5—78,320
Jdwhat is to 128.5+78,320

a=1/6

| | |
| I I I

| | |
I I I
0 1/4 1/2 3/4 1 3/22 3 5

Dy (91 1| 92) = 0.911

N Z 6/7

1/6 1/6
pT,/Q o pT,/Q

10-3 D 107 <of her sister 128.5-78,320
her-uncle and he had neverp
10732 10722 You will not >
was-forced tox, ‘in the rg6 for I have >
K 10734 RN 4,.12,1,}';1" 10734 ] a mixture of >
&, @o 3% oht not to - in the sdme 3.6 <X 0 Games Tith s
%, ‘o 107 N 07" & & he had ar
@Og ; D Vot a7 for méto @Q\? the compliment of >
1 10738 & nothing to do
il A p s Spiion of 3 so fortunate asp>
3, N give me leave >
10 _\){Q 006 at the Parsonage >
~é\\”\’ %Q)o me leave to>
> I should think >
. 0 &L
100 Ol -4 O 5 6\’0 how can youp
&Q she was very >
1,000 1046 2;2, in all this>
S nothing to say >
10,000 ¥ N ,@& Balances: be in ther
Z P R PR Miss Bingley I
100,000 e, 0 0 ¥ < 50.0% total counts 50.0% gwhat has been 200=78,320
) 0@0 N\ &2 52.5% all 3-grams 52.2%
&

Counts per cell 91.2% exclusive 3-grams 91.1% 50.1%—49.9%



(21: Pride and Prejudice, first half

Instrument: Probability-Turbulence Divergencé

a=1/4
| Y | | | | | | |
| I I I I I I I I
0 1/4 1/2 3/4 1 3/22 3 5

Dy, (91 119) = 0.911

4/5
o Z 1/4 1/4‘

th __pTQ

1073 L N
her-uncle and
10732 N
was-forced toX|
K 10—3.4 . ‘. 2
& 2 ought not to~ ‘
@Q \)}@ 1036
%
U
: A
(./.
10 %Q
@, %,
100 \;»@‘/."8\,\, . itlalmst possible.:
&, D
Q).
1,000 G . 10-46
\}&Z‘
10,000 4
e B %
“a @&& 0
100,000 %, \
Q
U

Counts per cell

(29: Pride and Prejudice, second half

1073
K 10732
.~ in the ro6
10734
‘ p .' in the sdme @ ]&
~36
0730 S &
Q)O»
Vo 107%% A
AN NN Q)Q)
: ,‘ TR QN
“that did em 144 &50 5O 6\’0
N
D
10—4.6 Q&
§$>
o
e Balances:
%GJ Q’/&a &’\/
0 O & < 50.0% total counts 50.0%
“*%éx 52.5% all 3-grams 52.2%

91.2% exclusive 3-grams 91.1%

Divergence contribution 5Df/ 1 (X107°%)

1.5 1 0.5 0 0.5 |

1.5

in the room >
in the samepr
said Miss Bingley >
of Lady Catherine >
<ought not to 62.5—78,320
Ja letter from 62.5—78,320
for me ton
said Bennet and >
glad to seer
a second timep
that you are>
Sir William and >
I am convinced >
am convinced that >
that it is>
he must be>
<go to Brighton 128.5—=78,320
<each of them 128.5—78,320
Jdwhat is to 128.5+78,320
<of her sister 128.5—78,320
he had neverp
You will not >
for I have
a mixture of >
to dance with>
he had ar
the compliment of >
nothing to do>
so fortunate as>
give me leave >
at the Parsonage >
me leave top
I should think >
how can you>
she was very >
in all this>
nothing to say >
be in thep
Miss Bingley I
Jdwhat has been 200—78,320

50.1%—49.9%



(21: Pride and Prejudice, first half

Instrument: Probability-Turbulence Divergencé

a=1/3

| | |
| I I I

| | | |
I I I I
0 1/4 1/2 3/4 1 3/22 3

Ol ——

Dy )5(21 1| 922) = 0.912

: o [3/4
OCZ 1/3 1/5‘

pT,Q o pT,Q

1073 Noo A <§§>
her uncle ang y N
wagforced to¥ /77 %in the ro6
K 10734 Nl ‘ 1034 E
ought not to -~ - % 0 0 in the sdme
{;@qu}}@ 10—3.6 <2> ‘ ‘ ' .‘ 1073.6 @Q’{,’Q) Q)&
S Dy SO ST >
&x glg_g% ighton ’ ' %Q)O»
ha et S0 A heropinion of &
3, 0t T @ @ Y S
0 % % f t but A e last At v ®
%, ogome ftigshinent bu @ t i 4y melastAighy ,g,d <8
od s e 6(). = \0%0 o o S
100 0, < ' stNmpossible -2 | o0 that did see _ o2
‘})@‘/ "G Y, 1t181m possib ‘ ‘ i Myp-1a P &S &o
1,000 O@ 10-46 “i\:.{{.;.; 1046 Q/&
J&@a \ @*@}
10,000 ég/ 74 . ) @& Balances:
X
id {51@ /@& 0 0 \,@% > Q&' 50.0% total counts 50.0%
v v S

100,000 N 2 52.5% all 3-grams 52.2%

Counts per cell

(29: Pride and Prejudice, second half

91.2% exclusive 3-grams 91.1%

Divergence contribution 5Df/3ﬁ (x1073%)

1.5 1 0.5 0 0.5 1

1.5

in the room >
in the samepr
said Miss Bingley >
of Lady Catherine >
<ought not to 62.5—78,320
Ja letter from 62.5—78,320
for me ton
said Bennet and >
glad to seer
a second timep
that you are>
Sir William and >
I am convinced >
am convinced that >
that it is>
he must be>
<go to Brighton 128.5—=78,320
<each of them 128.5—78,320
Jdwhat is to 128.5+78,320
<of her sister 128.5—78,320
he had neverp
You will not >
for I have
a mixture of >
to dance with>
he had ar
the compliment of >
nothing to do>
so fortunate as>
give me leave >
at the Parsonage >
me leave top
I should think >
how can you>
she was very >
in all this>
nothing to say >
be in thep
Miss Bingley I
Jdwhat has been 200—78,320

50.1%—49.9%



(21: Pride and Prejudice, first half

Instrument: Probability-Turbulence Divergen
a=5/12

| | |
| I I I

| | |
I I I
0 1/4 1/2 3/4 1 3/22 3 5

Dy )15 (Q1 1| 92) = 0.913

12/17
Z ’
-

5/12 5/12
pT,Q o pT,Q

1077
her;uncle and
10732 N A
was forced t0X
K107 SO
&% ought not to: ~ =
@9 O{}@ 1073.6 <2> W
(/@ N
% %8‘2% Brighton
1
T
10 % 0o some refre
(?QQ) Qd 10
A %
100 ﬁ%@ Q‘}ia
%
1,000 5
’&&f
10,000 4
%
“ \{;;@ /@&
100,000 2N
Q
%

Counts per cell

(29: Pride and Prejudice, second half

" /“4in the 06

" in the sdme
10736 &

Balances:

50.0% total counts 50.0%

& 52.5% all 3-grams 52.2%
91.2% exclusive 3-grams 91.1%

Divergence contribution 5D§/12 _ (x107°%)
1.5 1 0.5 0 0.5 1 1.5

Jought not to
da letter from

<go to Brighton
Jeach of them
dwhat is to

<of her sister

<dwhat has been

in the room >

in the samepr

said Miss Bingley >
of Lady Catherine >
62.5—=78,320
62.5—=78,320

for me ton

said Bennet and >
glad to seer

a second timep
that you are>

Sir William and >
I am convinced >
am convinced that >
that it is>

he must be>
128.5=78,320
128.5=78,320
128.5=78,320
128.5+=78,320

he had neverp
You will not >

for I have

a mixture of >

to dance with>

he had ar

the compliment of >
nothing to do>

so fortunate as>
give me leave >

at the Parsonage >
me leave top

I should think >
how can you>

she was very >

in all this>
nothing to say >

be in thep

Miss Bingley I
200=78,320

50.1%—49.9%



()1: Pride and Prejudice, first half (25: Pride and Prejudice, second half Divergence contribution 0D f/z,T (x107*%)

2 1.5 1 0.5 0 0.5 1 1.5 2

Instrument: Probability-Turbulence Divergencé I I I I I I | | |

in the room >
in the samepr
said Miss Bingley >
of Lady Catherine >
<ought not to 62.5—78,320
Ja letter from 62.5—78,320
for me ton
uncle and aunt 6.5—819
the honour of
her uncle and 20.5—28.622
said Bennet and >
glad to seer
a second time >
that you aren
Sir William and >
I am convinced >
am convinced that >
that it is>
he must be>
107 dgo to Brighton 128.5+78,320
Jeach of them 128.5-—78.,320
AN 107% awhat is to 128.5+78,320
i Jin the roo y <of her sister 128.5=78,320
0 RSN 107 and I am
‘Q In the same ) he had neverp

107> @0&’&2}0& You will not >

for mxé\to oS for I haver
e ‘ T ion ?f X to dance with >
D 10~ NS&

a=1/2
| | Y |

| I I I

| | |
I I I
0 1/4 1/2 3/4 1 3/22 3 5

DYy (91 1| 92) = 0.913

2/3
o Z 1/2 1/2‘

pT,Q o pT,Q

1073

her-urcle and
10732 P é 1
was-forced to¥
< 10734 o
o 103% oht not to . -
Y, ©

1038 > a mixture of >
he had ar

‘ ’ ne last Aight_,, \ﬁQ 006 the C.Ompliment of >
10~* \0\\,} %Q)G nothing to dor
possible. S 77 that did

> so fortunate as>
Zem 7 (L0 .
1044 S o give me leave >

) at the Parsonage >
10749 < me leave to>
‘b&b I should think >
A Balances: how can you
she was very >
in all this>

1,000

10,000
%GJ X0

2
0 0 3 QQJQ’ Q* 50.0% total counts 50.0%

N “Z%éx 52.5% all 3-grams 52.2%
91.2% exclusive 3-grams 91.1% 50.1%—49.9%

100,000

Counts per cell



(21: Pride and Prejudice, first half

Instrument: Probability-Turbulence Divergencé

a=T7/12

| | |
| I I I

| | | | |
I I I I I
1/2 3/4 1 3/22 3 5 o

D715 (Q1 [|92) = 0.914

12/19
3:2 ’
-

7/12 7/12
pT,/Q _pT,/Q

1073 R ;
her uncle and
1073.2 h :.'.
was forced to-
Ko 107 R
5 @ ought not to» -+ *
@Q O{}@ 1073.6 <2>
% i G
% %8‘2% Brighton . w
(g“ 1(1)rla4 Qlsyet « )
%y D »
10 © 0o gome refreshinént but
(?QQ) Qd 10
100 A o \})@k 1 OSt N ossiBl‘e R
"% - b glndst ‘
1,000 Q% —4.6
’&&f
10,000 4
% ¢
\)}:@ @&& 0
100,000 %, \
Q
"

Counts per cell

(29: Pride and Prejudice, second half

in the sdame

(%)
10—3.6 Q&’ &
N
Q)O»
F N <>
& " her opinion of 9
-, 107? 6«@,%
N me lastfight 4o .»&Q >
1042 o
/o that did et | 44 &60 MY &dz)
N
&
10—4.6 Q
06
o
e Balances:
%GJ Q’/&a &’\/
O & < 50.0% total counts 50.0%
4 %’@Q* 52.5% all 3-grams 52.2%

91.2% exclusive 3-grams 91.1%

Divergence contribution 6 D> 2.7 (X 10°%)
2 1 0 1 2

in the room >
uncle and aunt 6.5—819
in the samep
said Miss Bingley >
the honour of
of Lady Catherine >
<ought not to 62.5=78.320
Ja letter from 62.5—78,320
her uncle and 20.5-—28,622
and I am
for me to
said Bennet and >
glad to seer
a second timep
that you are>
Sir William and >
I am convinced >
am convinced that >
that it is>
he must be>
<go to Brighton 128.5—78,320
Jeach of them 128.5-—78,320
Jdwhat is to 128.5—78.320
<of her sister 128.5—78,320
she had been 14.5—819
a young man
Lady Catherine de
he had never
You will not >
for I have
a mixture of >
to dance with>
he had ar
the compliment of >
nothing to dop
so fortunate as>
give me leave >
at the Parsonage >

me leave top>
I should think >

50.1%—49.9%



(21: Pride and Prejudice, first half

Instrument: Probability-Turbulence Divergen

a=2/3

| |

|
| I I I

1/2 3/4

LY ——
Ol ——

% —
1 3/2 2

Dy 5(21 1| 922) = 0.915

, 13/5
2/3 2/3
ocg / /‘
-

pT,Q o pT,Q

103 N )
her-uncle-and
1073.2 h
was forced to
& 10—3.4 \
5 D ought not to~. -
fﬁ@Q O\)}@ 1073.6 ‘
Q BYi
&x glg_g% ghton
1 ‘
\{i . 151214 Qt yet Y
10 \}% x‘)" ome ref went but P
100 ‘K}» & \}(/g 1 st pOSSiBl‘é\
%, - b ghm | ‘
1,000 ‘% 1046
6‘;‘&5
10,000 %
e B %
“a @&& 0
100,000 %, \
Q
"

Counts per cell

(29: Pride and Prejudice, second half

her opinion of &
& 107 &
Q >
R ‘ e last Aight ., Q& >
4 1042 xS
A <
o that did geem, 44 X s\/o&' X
AN
D
10—4.6 Q&
06
0
22 Balances:
%GJ X Q\/
o\ Q@Q’ g% 50.0% total counts 50.0%
“*%éx 52.5% all 3-grams 52.2%

91.2% exclusive 3-grams 91.1%

Divergence contribution dDY,., (x107%)

2/3,T
2 1 0 1

2

in the room >
uncle and aunt 6.5—819
the honour of
in the samep
said Miss Bingley >
and I am
her uncle and 20.5—28,622
of Lady Catherine>
<ought not to 62.5=78,320
Ja letter from 62.5—78.320
she had been 14.5-—819
for me ton
a young man
Lady Catherine de
I do not
Catherine de Bourgh
her sister and
said Bennet and >
glad to seer
a second time >
that you arep
Sir William and >
I am convinced >
am convinced that >
that it is>
he must be>
<go to Brighton 128.5—78,320
Jeach of them 128.5—78.,320
Jdwhat is to 128.5-—78,320
<gof her sister 128.5-—78,320
one of the
of the day
I have no
was to be 33+—2,333.5
in love with
made no answer
I shall be
to do it
I am sorry
was forced to 62.5-—28,622

50.1%—49.9%



(21: Pride and Prejudice, first half

Instrument: Probability-Turbulence Divergencé

a=3/4
} | | Y

I I I

| | | | |
I I I I I
0 1/4 1/2 3/4 1 3/22 3 5 oo

D3, (91 1| 9) = 0.915

N Z ‘4/7

3/4 3/4
pT,Q o pT,Q

1073
1073.2
K 10—3.4

@9 O\)}@ 1073.6

1,000 © 1046
10,000 6@

100,000 %,

Counts per cell

%, itlelmst i pPOossi :'l‘e« ‘

(29: Pride and Prejudice, second half

‘in-the rog

( in-the sdme &Q)%&
~3.6
10 &Q \}Q)’Q
or meNto Q)O»
10—3.8 Q\*S,
4 her opinion of %
S ‘ 10 *@
Q >
T A melast Aight o &
BTN 10 O
SN N o
D ) > .
. that did Seem | 144 &60 KO&&CJQ)
DX D
10—4.6 Q&
06
o)
-BQ) Balances:
%GJ x Q\/
0 o\ Q@Q’ g% 50.0% total counts 50.0%
4 %’@Q* 52.5% all 3-grams 52.2%

91.2% exclusive 3-grams 91.1%

Divergence contribution 5D§/ L. (x107%%)

2 1 0 1 2

in the room >
uncle and aunt 6.5—819
the honour of
and I am
her uncle and 20.5-—28,622
in the same>
said Miss Bingley >
I do not
she had been 14.5—819
a young man
Lady Catherine de
of Lady Catheriner
<ought not to 62.5—78,320
Ja letter from 62.5—78,320
one of the
Catherine de Bourgh
her sister and
for me ton
in love with
made no answer
by no means
of the day
I have no
was to be 33+—2,333.5
on the subject
said Bennet and >
glad to seer
a second timep
that you arep
Sir William and >
I am convinced >
am convinced that >
that it is>
he must be>
<dgo to Brighton 128.5-—78,320
Jeach of them 128.5-—78,320
Jdwhat is to 128.5—78.320
<of her sister 128.5—78,320
a great deal
I shall be

50.1%—49.9%



(21: Pride and Prejudice, first half

Instrument: Probability-Turbulence Divergen

a=5/6
v

| | |
| I I I

| | |
I I I
1/2 3/4 1 3/22 3 5 o

D?/G(Ql

2

|Q,) = 0.916

5/6  5/6|0/11
pT,Q o pT,Q

1073 L P
er uncle and
1073 2 b "
as foreed to: ‘
Ko 107 ‘0
5 ought not to~.
f‘@QQ O{}@ 1073 6 " ./
< go to Brighton . 4
& 1038 ‘
1
{%. ~(0 151&4 S yet :': .
10 % < ey .l' :
QOQ, og(;dme 11"0e_f£§ ent but ‘
100 S % %, it plndstpossible. g
J .‘.
Q. ° ¢
1,000 G 10-4
%
10,000 “¢
%
< \)}:@ /@& 0
100,000 % N
%

Counts per cell

2

(29: Pride and Prejudice, second half

"~ “in the rod

Q‘ 10—3.4 7(
-_ 2~ > in the sdme
\’ “‘ 10-36 @Q&Q) QJ&
o for yréto Q)O?
: 0 10738 >
. " her opinion of &
SRR 10 o
Tl 4 me last Aipht .%Q 9’6
L 10742 o
N &
- ,, s .
. 4 -that did seem 44 &50 MY 6\’0@
R
N
10—4.6 Q&
Qb
o2
. ) @}Q) Balances:
X
\/‘Z)G*’ Q@Q’ QL 50.0% total counts 50.0%
4 %’@Q* 52.5% all 3-grams 52.2%

91.2% exclusive 3-grams 91.1%

Divergence contribution 5D5P/6T (x1073%)

2 1 0 | 2

uncle and aunt 6.5—819
in the room >
the honour of
and I am
I do not
her uncle and 20.5-—28,622
she had been 14.5—819
in the samep>
said Miss Bingley >
a young man
Lady Catherine de
one of the
of Lady Catheriner
<ought not to 62.5=78.320
Ja letter from 62.5—78,320
Catherine de Bourgh
her sister and
by no means
on the subject
in love with
made no answer
a great deal
for me tor
of the day
I have no
was to be 33+—2,333.5
would have been 9-—59.5
it would be
I shall be
to do it
I am sorry
was forced to 62.5-—28,622
it must be 62.5—28,622
Miss de Bourgh
it to be
the day before
said Bennet and >
glad to seer
a second time
that you are>

50.1%—49.9%



(21: Pride and Prejudice, first half

Instrument: Probability-Turbulence Divergencé

a=11/12
v

| | | |
| I I I

| | |
I I I
1/2 3/4 1 3/22 3 5 o

DY) (|| Q) = 0.917

12/23
“Z
T

11/12 11/12
pT,Q o pT,Q

103
her uncle and "‘
1073.2
was forced to ‘ ‘
& 10—3.4
5 ougut rot to -
{1@90 Oﬁ@ 1073.6 “ Y
Q BXio :
% golgBgion Te
1 - :
"{);. . 1(1)qa4 ot yet ‘
%y D
10 © "‘ogome refreshinent but
Y 4, 10 «
100 \})@Jggj‘ \/{};é itlalmst ipipossible
@R
1,000 e 1046
’&&f
10,000 4
e B %
“a @&& 0
100,000 7 N
Q
K2

Counts per cell

(29: Pride and Prejudice, second half

: n he 106
P 1 10734
“(in the sdme o
9 “ 10736 & &
“-,‘. for mé\to

10—3.8 g@

her opi i?(ljlg)f \Q%‘}
, me lastynight RS &
10 4.2 ,\,\, )
PO M &
~ that did\seem Nl > @
. tha s —44 Xod
10 Q‘(,O g\/ Q,&
D
10—4.6 Q&
th}
0
Qe Balances:
%GJ Q’/&a &’\/
0 O & < 50.0% total counts 50.0%
4 %’@Q* 52.5% all 3-grams 52.2%

91.2% exclusive 3-grams 91.1%

Divergence contribution § DY (x107°%)

11/12,7
3 2 1 0 1 2

3

uncle and aunt 6.5—819

I do not
the honour of
in the room >
and I am

her uncle and 20.5—28,622

she had been 14.5—819
one of the
a young man
Lady Catherine de
in the samep
said Miss Bingley >
by no means
on the subject
Catherine de Bourgh
her sister and
in love with
made no answer
a great deal
of Lady Catherine

<ought not to
da letter from
would have been

was to be
as soon as

that he was
could not be

was forced to
it must be

62.5+=78,320

62.5=78,320

9+=59.5

it would be

of the day

I have no

33+=2,333.5
9.9

Miss de Bourgh

it to be

for me top>

10=59.5

6.5=33.5

I shall be

to do it

I am sorry

62.5—28,622

62.5—28,622

the day before

Lady Catherine and

50.1%—49.9%



(21: Pride and Prejudice, first half

Instrument: Probability-Turbulence Divergencé

Dy (]| Q) = 0.917
X Z }pi,z - p;2‘1/2

1073
fer-uncle and
10732 RN A
WaS‘«eréed to ‘ ‘
& 10—3.4 X . ’ 0
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@ go to Bxighton
& 1038 N -
1
(g . 151a Qt yet ‘
%y D
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QQO’ gc?d 10—+ ‘
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S
2

Counts per cell

(29: Pride and Prejudice, second half

her opinion of
X o5

- %
S me last fight, . %Q 9’6
10 4.2 \;}3 CJO
N O &
L BN V.S on
‘that did s Sy Q@Q O 6\’0
N
10—4.6 Q&QJ
Qb
od
. ) @>® Balances:
0 \/‘Z)G*’ Q@Q’ QL 50.0% total counts 50.0%
4 %’@Q* 52.5% all 3-grams 52.2%

91.2% exclusive 3-grams 91.1%

Divergence contribution 6Dy . (x1072%)

3 2 | 0 1 2

3

I do not
uncle and aunt 6.5—819
the honour of
and I am
in the room >
one of the
her uncle and 20.5—28,622
she had been 14.5—819
on the subject
by no means
a young man
Lady Catherine de
it would be
a great deal
in love with
made no answer
Catherine de Bourgh
her sister and
in the samep
said Miss Bingley >
would have been 9-—59.5
as soon as 2+95.5
Miss de Bourgh
it to be
of the day
I have no
of Lady Catheriner
<ought not to 62.5—78,320
Ja letter from 62.5—78,320
was to be 33+—2,333.5
that he was 10-—59.5
could not be 6.5—33.5
Lady Catherine and
the day before
I shall be
to do it
I am sorry
for me tor
was forced to 62.5-—28,622
it must be 62.5—28,622

50.1%—49.9%



(21: Pride and Prejudice, first half

REAN

Instrument: Probability-Turbulence Divergen
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1
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Counts per cell

(29: Pride and Prejudice, second half

“. oung man’

’ the day be ore“\_

0 N 1034 E
\’ in the sdn 1e036 2 . &
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. 10—3.8 Q\»S
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: ,“. ‘ er opl 1%1£)f %‘}
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O
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o2
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0 \,‘Z)% Q@Q’ Q&' 50.0% total counts 50.0%
4 %’@Q* 52.5% all 3-grams 52.2%

91.2% exclusive 3-grams 91.1%

Divergence contribution § DY (x10~

13/12,7
3 2 1 0 1 2 3
| | | | | | |
I do not

uncle and aunt 6.5—819
the honour of
and I am
in the room >
one of the
she had been 14.5-—819
her uncle and 20.5-—28,622
on the subject
by no means
as soon as 2+5.5
a young man
Lady Catherine de
it would be
would have been 9—59.5
a great deal
in love with
made no answer
Catherine de Bourgh
her sister and
could not be 6.5—33.5
in the same >
said Miss Bingley >
that he was 10=59.5
Miss de Bourgh
it to be
of the day
I have no
was to be 33+—2,333.5
of Lady Catherine>
Jdought not to 62.5—78,320
<da letter from 62.5—78,320
which she had 20.5—237.5
Lady Catherine and
soon as they 33819
the day before
I shall be
to do it
I am sorry
was forced to 62.5-—28,622

50.1%—49.9%



(21: Pride and Prejudice, first half

Instrument: Probability-Turbulence Divergencé
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Counts per cell

(29: Pride and Prejudice, second half

a young man’ .
% 103
‘\’ the day hefore - -

T 10732

\’ in the sdn 1603'6 Q&Q) Q)&

for mréto &Q)&?
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91.2% exclusive 3-grams 91.1%

Divergence contribution 6 D7 6.7 (x107°%)

- 3 2 | 0 1 2 3 4

I do not
uncle and aunt 6.5—819
the honour of
and I am
in the room >
one of the
she had been 14.5—819
on the subject
by no means
as soon as 2+5.5
her uncle and 20.5-—28,622
it would be
would have been 9-—59.5
a young man
Lady Catherine de
a great deal
in love with
made no answer
could not be 6.5—33.5
that he was 10-—59.5
Catherine de Bourgh
her sister and
Miss de Bourgh
it to be
in the samep>
said Miss Bingley >
of the day
I have no
was to be 33+—2,333.5
which she had 20.5—237.5
of Lady Catheriner
Jought not to 62.5—78,320
<Ja letter from 62.5—78,320
in the world 4-—16
Lady Catherine and
soon as they 33819
the day before
I shall be
to do it
I am sorry

50.0%—50.0%



(21: Pride and Prejudice, first half

Instrument: Probability-Turbulence Divergencé
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v

| | | |
| I I I
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0 1/4 1/2 3/4 1 3/22 3 5 oo
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Counts per cell
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(29: Pride and Prejudice, second half

& young

‘ the day be ore .

al

z

1073.6

\ &>
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10—4.6 Q&Q)
Qb
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P S Balances:

N
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K gé/@o\’ 52.5% all 3-grams 52.2%
91.2% exclusive 3-grams 91.1%

]

Divergence contribution 5D5P/ L. (X107%%)
0

I do not
uncle and aunt 6.5—819
the honour of
and I am
one of the
as soon as 2 5.5
in the room >
on the subject
by no means
she had been 14.5-—819
it would be
would have been 9-—59.5
her uncle and 20.5-—28,622
a great deal
a young man
Lady Catherine de
could not be 6.5—33.5
in love with
made no answer
that he was 10-—59.5
Catherine de Bourgh
her sister and
Miss de Bourgh
it to be
in the samep
said Miss Bingley >
of the day
I have no
was to be 33+—2,333.5
in the world 4-—16
which she had 20.5—237.5
Lady Catherine and
soon as they 33819
of Lady Catherine >
<ought not to 62.5—78,320
da letter from 62.5—78,320
she could not
the day before
am sure I 25.5—237.5
I shall be

50.0%—50.0%



(21: Pride and Prejudice, first half (29: Pride and Prejudice, second half

Instrument: Probability-Turbulence Divergencé

a=4/3
v
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I I I
0 1/4 1/2 3/4 1 3/22 3 5 oo
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10732 2N R ) )
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R g

V4
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had'nqt yet” | . 4 “her opinion of &
6, L, T e | & e g
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100,000 9(/@0 pN o %QJQ\/ 52.5% all 3-grams 52.2%
&

Counts per cell 91.2% exclusive 3-grams 91.1%

5

Divergence contribution 5Df/3 _ (x107°%)
0

5

I do not
uncle and aunt 6.5—819
the honour of
and I am
as soon as 2-—5.5
one of the
on the subject
by no means
in the room >
it would be
she had been 14.5-—819
would have been 9-—59.5
her uncle and 20.5-—28,622
could not be 6.5—33.5
a great deal
that he was 10-—59.5
a young man
Lady Catherine de
in love with
made no answer
Miss de Bourgh
it to be
Catherine de Bourgh
her sister and
in the world 4-—16
of the day
I have no
was to be 33+—2,333.5
which she had 20.5—237.5
in the samep
said Miss Bingley >
she could not
Lady Catherine and
soon as they 33819
I am sure
the day before
of Lady Catherine>
<ought not to 62.5=78,320
da letter from 62.5—78,320
am sure I 25.5—237.5

50.0%—50.0%



(21: Pride and Prejudice, first half

Instrument: Probability-Turbulence Divergen

a=17/12
v
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Counts per cell
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(29: Pride and Prejudice, second half

she could

[ am not
on the subject

one of the

the honour of

":. young é

the day before

‘in the rog

° 1n the sdme
‘ 10-36 &Q&

: XENLO S
‘ X ‘ 10—3.8 Q\»SQ)
er opi ionﬁgf NS
‘ 10 o
meJast nigh

9 >
; o t_ ]
S £ e % g

0 o A .
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&S QY
0 e < 50.0% total counts 50.0%

4 %’@Q* 52.5% all 3-grams 52.2%

91.2% exclusive 3-grams 91.1%

Divergence contribution 6Dy, o (x107°%)

4 2 0 2 -

I do not
uncle and aunt 6.5—819
the honour of
as soon as 2+—5.5H
and I am
one of the
on the subject
by no means
it would be
in the room >
would have been 9-—59.5
she had been 14.5—819
could not be 6.5-—33.5
a great deal
that he was 10-—59.5
her uncle and 20.5—28.622
a young man
Lady Catherine de
in love with
made no answer
Miss de Bourgh
it to be
in the world 4-—16
Catherine de Bourgh
her sister and
she could not
which she had 20.5—237.5
I am sure
of the day
I have no
was to be 33+—2,333.5
in the samep
said Miss Bingley >
Lady Catherine and
soon as they 33819
am sure I 25.5—237.5
the day before
I did not 14.5—59.5
of Lady Catheriner
Jought not to 62.5—78,320

50.0%—50.0%



(21: Pride and Prejudice, first half (29: Pride and Prejudice, second half

Instrument: Probability-Turbulence Divergen

| |
I I
0 1/4 1/2 3/4 1 3/22 3 5 oo

AS soon as she could n

DY (|| Q2) = 0.920

Z 3/2 a/2‘2/5

Pro — Pro

in the world am not

rould have been on the subject

@

did ; a(’, one. of the

ncle and aunt in love with

she had been

the honour of ~

was to/be a_young.man
103 ‘ e 103
erauncl'e and bthe day hefore -
10732 ~ ' k 10732
was- forced to ‘in th rod

& 10_3'4 % 0 10—34 ]
s 9 ought not to 1nthe dxe

\"@% %, 10736 ‘ ’ _ Q‘ 1073 &0@ &

% go to Brighton PNTe) Q)O\?
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X
i \)\;@ /@&& 0 0 & 0@'9’ Q* 50.0% total counts 50.0%
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&

Counts per cell 91.2% exclusive 3-grams 91.1%

Divergence contribution 6Dy 197 (X 10°%)
6 4 2 0 2 4

I do not
uncle and aunt 6.5—819
as soon as 2+—5.5H
the honour of
and I am
one of the
on the subject
by no means
it would be
would have been 9-—59.5
she had been 14.5-—819
in the room >
could not be 6.5-—33.5
a great deal
that he was 10-—59.5
her uncle and 20.5—28.622
in love with
made no answer
a young man
Lady Catherine de
in the world 4-—16
Miss de Bourgh
it to be
she could not
Catherine de Bourgh
her sister and
I am sure
which she had 20.5—237.5
of the day
I have no
was to be 33+—2,333.5
in the samep
said Miss Bingley >
Lady Catherine and
soon as they 33819
I did not 14.5-—59.5
am sure I 25.5—237.5
that she was 18.5—82.5
not to be 18.5—82.5
the day before

50.0%—50.0%



(21: Pride and Prejudice, first half

Instrument: Probability-Turbulence Divergencé
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Counts per cell

B . N )
 that did\geem 44 ¥ R,O&' &

(29: Pride and Prejudice, second half

I do not

she‘\could not

I am not

on thesubject 0

Q

in love with

he honour of

‘s young map

e day hefore .

% ~In the. rog

.‘ “ in the gdx 1603'6 s
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Divergence contribution 6Dj . (x1072%)
8§ 6 4 2 0 2 4 6
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I do not
as soon as 2+—5.5H
uncle and aunt 6.5—819
on the subject
it would be
one of the
by no means
the honour of
I am sure
and I am
would have been 9-—59.5
could not be 6.5—33.5
she could not
that he was 10-—59.5
in the world 4-—16
a great deal
she had been 14.5—819
in the room >
in love with
made no answer
Miss de Bourgh
it to be
her uncle and 20.5—28.622
a young man
Lady Catherine de
I am not
which she had 20.5—237.5
Catherine de Bourgh
her sister and
I did not 14.5-—59.5
that she was 18.5—82.5
not to be 18.5—82.5
and she was
of the day
I have no
was to be 33+—2,333.5
am sure I 25.5—237.5
that she had 14.5—43
I dare say
Lady Catherine and

50.0%—50.0%



(21: Pride and Prejudice, first half

Instrument: Probability-Turbulence Divergencé
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Counts per cell

(29: Pride and Prejudice, second half
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A
he honour of

/§> young.map

bhe day hefore -

. ( 1073.2
“ in the ros
) ’ 10—34
S in the sdme Q)%
10—3.6 Q’{’ Q)&
Kto v S
10—3.8 g@
her opinion of 9
| 10+ t;@
& me la ight ,, .\SQ >
107+ \\/\, Q)CJ
X S
shat did AT | 4.4 X 9\/0&’ .\’Q‘ZJ“
‘ Q® &
)
: 10—4.6 Q&
Qb
0
N .@@ Balances:
X0
0 \,Q)% 0Q}Q’ < 50.0% total counts 50.0%
4 K@Q* 52.5% all 3-grams 52.2%

91.2% exclusive 3-grams 91.1%

Divergence contribution 6Dy (%)
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I am sure

she could not
uncle and aunt 6.5—&819
it would be
on the subject
could not be 6.5—33.5
one of the
by no means
in the world 4-—16
would have been 9-—59.5
that he was 10-—59.5
the honour of
and I am
a great deal
I am not
she had been 14.5-—819
in the room >
I dare say
in love with
made no answer
Miss de Bourgh
it to be
I did not 14.5—=59.5
that he had 6.5—10.5
and she was
that she had 14.5—43
her uncle and 20.5-—28,622
a young man
Lady Catherine de
that she was 18.5—82.5
not to be 18.5+—82.5
as well as 1127
which she had 20.5—237.5
Catherine de Bourgh
her sister and
I have been
it was not
could not help

49.9%—50.1%



(21: Pride and Prejudice, first half (29: Pride and Prejudice, second half
Instrument: Probability-Turbulence Divergencé
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Divergence contribution 6D (%)
0.015 0.01  0.005 0 0.005  0.01

0.015

I do not
I am sure
as soon as 2+—5.5H
she could not
it would be
in the world 4-—16
uncle and aunt 6.5—819
on the subject
could not be 6.5—33.5
one of the
by no means
would have been 9-—59.5
that he was 10-—59.5
I am not
that he had 6.5—10.5
the honour of
and I am
I dare say
a great deal
she had been 14.5-—819
as well as 1127
I did not 14.5—59.5
and she was
that she had 14.5—43
in the room >
in love with
made no answer
Miss de Bourgh
it to be
that she was 18.5—82.5
not to be 18.5—82.5
he had been
her uncle and 20.5-—28,622
a young man
Lady Catherine de
which she had 20.5—237.5
I have been
it was not
could not help
Catherine de Bourgh

49.7%—50.3%



(21: Pride and Prejudice, first half

Instrument: Probability-Turbulence Divergencé

(29: Pride and Prejudice, second half
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I do not
I am sure
as soon as 2+—5.5H
she could not
it would be
in the world 4-—16
uncle and aunt 6.5—819
on the subject
could not be 6.5—33.5
that he had 6.5—10.5
one of the
by no means
would have been 9-—59.5
I am not
that he was 10-—59.5
I dare say
the honour of
and I am
a great deal
as well as 1127

she had been 14.5-—819
I did not 14.5—59.5
and she was
that she had 14.5—43
in the room >
in love with
made no answer
Miss de Bourgh
it to be
that she was 18.5—82.5
not to be 18.5—82.5
he had been
a young man
Lady Catherine de
her uncle and 20.5—28,622
which she had 20.5—237.5
I have been
it was not
could not help
I have not

49.3%—50.7%



(21: Pride and Prejudice, first half

Instrument: Probability-Turbulence Divergencé
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I do not
I am sure
as soon as 2+—5.5H
she could not
it would be
in the world 4-—16
on the subject
that he had 6.5—10.5
could not be 6.5—33.5
uncle and aunt 6.5—819
I am not
by no means
one of the
would have been 9-—59.5
I dare say
that he was 10-—59.5
and I am
the honour of
a great deal
as well as 1127
that it was
and she was
she had been 14.5-—819
that she had 14.5—43
I did not 14.5—=59.5
he had been
Miss de Bourgh
it to be
in love with
made no answer
in the room >
that she was 18.5—82.5
not to be 18.5+—82.5
I have not
I have been
it was not
could not help
a young man
Lady Catherine de
which she had 20.5—237.5

48.5%—51.5%



